EJERCICIOS NOM A DE AMINAS
N° Formula Nombre
1 CHz— NH:z
CHz— CH:x— {|::H — CHs3
2
NH-2
CH3
/
3 CHs—N
\
CH3
4 CH3;—CHz— NH—CHz— CH3
5 NH2
CH3
/
6 CH3—CHz— CHz2— N\
CHz— CHa3
CH:s
|
7 Elng— E|3= DH—EII—NHE
NHz  NH: NHz
CHS—CIZH —NH—{fH —NH— CH3
8

CH3 CHE_ CHS
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HOOC

NH:2

10

CHo— N— CHo—NH—CH—NH—CH:
CHs CHa

11

CllHE—NHE

CHs—NH—C— NH—{i“.H—NH— CHs
NH—CHs O— CH:

12

NH— CHz2—CH3

CHa

13

O CHs

1 |
CHz—C — NH—CHz2—N —CHs3s

14

CH3

|
{lle—EllH — CHa —Ell—CHE— NH:2
NHz CHz—NHz NH— CHza
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15

OH O
I V4
CHs—NH— CH—C

M

16

{IZZHE— NH:

CHs—NH—C—NH—CH —NH—COOH

I |
O— CHa NH—CHs;

NH— CHz3
I
17 CHz;—CH— C=C— C=CH:=
I | (5
OH NH20H
CHa NH:z 0
| V4
18 CHz:—C— CH— NH—C
| Ny
O—CHz>—CHs3
NH:2
0
C//
AN
19 H
MNH2
O OH

20

I I
CH: —C— NH— CHz2
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21

CHH\
N— CHz— CHz—N

CHa— EHE’! @
O

o NH—CHs
| V4
22 CHs—C— C=C—C
Y
NH:z
0 0
I V4
23] CHEC—C—C—CH—C=C—C
[ | N\p
CHz  NH— CHs
O 0
I V4
24 CH3—C— CH— NH—C
| \oH
NH— CH>— CH3
O 0
I V4
2 NH;—C — CH— NH—C
| NoH
OH
CH2—NH:z o
| 7
26 CHs—C— NH—C—C
| ok
NH— CHz—CHs
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27

I‘|~JH—CH3 0
1
NH:— CH— {llH —{llH—C— NH:z
NHz OH

NH— CHz ?—CHS
|

28 CHS_?:C_ CIZZCH —C:Cf— NH— CHz3
NH-2 CHz—NH:z OH
CHz—NHz
/
29 CHz—CHz— CHz—N
N\
NH— CHa
NH — CHs

30

|
CH=C —NH—C—NH—CH; —CH—NH —
CH3

| |

CH, — NH> CH, — CHgs

31

0 I‘lv,IH—CHa
]
NH;— CH—C—CH—C= 'EIJ—CEDH
I |

32

O O CH; —C =CH—CHjs
NH> |Cl |C|3 NH—C:ll—NH—CHg
H3C—(|3—CH3
ch.
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33

O NH — CH—CHs;
NH2 i.l, NH (|3:C—NH—CH3
H3C—l§— CHs
w

34

O O OH

I
CH;— C—C — C—C—NH—CH, —
CHs
] |

NH, — CH O —CH;—CHjs

35

O

I
CH=C—NH—CH—C— NH—C=C—CH;,

NH — CH, — CHjs

36

0 NH — CH — CHs
| |
NH, —C—NH—C =C—NH—CHj
|
CH, — CH, — NH;

37

0 NH — CH, — CH
] |
CH;—NH—C— CH—CH,—C = C—CHj

|
O — CH,— CHg

38

O @) O— CHjs;
| — |
| |
NH — CHs OH
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39

o O— CH,— CHjs
| |
CH;— C— CH2—NH—?:—NH—CH=CH—CHO

NH — CH, — CHs

40

@
|

CH; — C|3H—NH—|CH—C—CH—NH—CH3
CH, NH — CHs
|
CH,—NH—CH,

41

o)
|

CH3—C|H— C —NH— COOH
H;C —C—CH;
|

NH,

42

CH, NH,—CH;O O
| | 1
CHy —C— CH—C—CH,—C —C—COOH
| |
NH,—CH; O—CH;

43

NH,  NH—CHs O
| | |
CHs —CH — CH—C — CH—C — COOH
.
NH, — CH; O — CHs

44

NH, OH O —CH,—CHjs
o
CHs —NH—C = C— C=CH— NH— COOH

45

NH,  NH—CHs 0
| | ]
CH; —CH — CH—C— CH—C— COOH
|
NH, — CH; O — CHg
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